Question 1
Question text
Why did India choose to opt out of RCEP?

Select one:

C
a

Inadequate protection against surges in imports to India

“p

India seeks more market access and its concerns relating to non tariff barriers (NTBs)
.

C.
Both (a) & (b) above

d. None of Above

Question 2
Question text

How many countries are involved in RCEP?

Select one:
a. 16
b. 12
c. 15
d. 18

TN

Question 3
Question text
When was the RCEP introduced?

Select one:
C
a

October 2011, 17th ASEAN meeting

“ b



November 2011, 19th ASEAN meeting

c. October 2011, 19th ASEAN meeting
d. November 2011, 17th ASEAN meeting



